MATH 6171 Answers for Homework 3 Fall 2005

For even-numbered problems in Chapters 10 & 11 which you have turned in only

Section 10.1

9 2r 2 Lk k
6 (It is a proof.)
Section 10.2

8 %—1—4 (cosx—l— icos?x—k %cos3x+---)—47r (sinx—i— %sin2x+ %sin3x+--->

10 7—2 (cosa: + § €083z 4 5 cos 5T + - -)+2 (sinx — 38in2z + §sin3z — {sindr + — - )
Section 10.3

4 1-35 (cosg—“+%cos%%+%cosg”r7‘”+~~)

8 i =+ % (cos27rx+ %cos67rx+ %colevar )
Section 10.4

2 Even: |z, ewz, sin?z, zsinz, e~ *l. Odd: z cos z.
8 Neither even nor odd.

10a (It is a proof.)

18 T =2 1o(1+i+1+L4.)

Section 10.8

2 (It is a proof.)

Section 10.10

2 m

16 (They are proofs and derivations.)



Section 11.1

2 (Verification)

4 (Verification)

6 (Verification)

10 (Verification)

22 u = c(zx)eY + h(x)

Section 11.3

4 0?8(costsinx+3%0083tsin3$+5%COS5$S1H5$+"‘)

8 %r (i cos 2t sin 2x — %COSGtSiHGZL’—{— ﬁcosl()tsinlOa:— +)

14 y = ceb@+y?)

16 u = (cle’“ + 026”“> (Acosky + Bsinky), oru = (cleky + cze”“y) (Acoskx 4+ Bsinkx),
or u = (ax + b)(cy + d)

Section 11.4
8 (Sketch a figure.)
12 (Verification)

Section 11.5

2 A2 =12 02 = Lin2 — 003512,

14 w(z) = % [—e‘m — % (1 — e_O‘L) T+ 1}
Section 11.6

2 A(p) =e?, B(p) =0, and u(x,t) = [ e~ PP cos prdp

10e u(z,t) =% [erf%;fg + erfgjfi} . (t>0)

Section 11.8



8 B, = U

Section 11.11

4 u= -S04 +300

6 u==>"+k

12 = (—cot o ) 4

14 u = 4r° Py(cos ¢) — 2r> Py(cos ¢) + rPi(cos ¢) — 2
16 Uiy = 372 Po(CO8 @) — 5,  Uent = 55 Pa(cos @) — 5=

Section 11.12

4 u(z,t)=t+1—(t—2*)u(t - 2?)



